
(simulate markers
    ;; population structure setup
    '(population 5 :epochs (bottleneck 1.5 3 3.5)
       (merge 3

 (population p1 1 :epochs (growth 100 0 1.5) (sample 100))
 (population p2 0.5
    (merge 1.5

   (population p3 0.2 (sample 50))
   (population p4 0.2 (sample 50))))))

    ;; migration rates between populations
    :migration '(;; population p1 and p2

        (migration p1 p2 0.5 1.5 3)
        (migration p2 p1 2.0 1.5 3)
  ;; populations p1, p3 and p4
  (migration p1 p3 0.1 0 1.5) 
  (migration p3 p1 0.8 0 1.5)
  (migration p1 p4 3.0 0 1.5) 
  (migration p4 p1 1.5 0 1.5)
  ;; population p3 and p4
  (migration p3 p4 2.0 0 1.5) 
  (migration p4 p3 2.0 0 1.5)))


